@By eps / HRT TLHR / Government of India

aleiQeouells  gleop / 3ATET [T/ Department of Space * il
QEAL alwQes oymiEd Boyeusth / SR IHANET HTHEUIET HITa+ / Indian Space Research Organisation / \
@b olmQan SymiEA euou o e awemeln /S Aige FEwE / ISRO Propulsion Complex &1 iif%bl‘ﬂ

wlasBHyAN / FEGEIR / Mahendragiri — 627 133
Suememiyslyy ‘o [usel @Pidp: 008] usalssts sWSFHIS Csiny

BRRAT T [95 F15:008] F 98 W T4 ¢ ff@a w et
Written test for selection to the post of Fireman ‘A’ [Post Code:008]

MemSesTGIY GHulh
SR TRt IS A

Question Booklet Code

Biei wmud Ceoih / FERT 3R TFHT/ Date & Time : 19.08.2018, 14.00 hrs to 15.30 hrs (1 % hrs)

Seaasia smaRdsns / Tt BT §EAT/ No. of Questions: 60  Quigs nliGussiesi / 3R 37 / Maximum Marks: 180

alssiemiugmyiar Ll gued  eTewk alesismiugmiear  snasQuriuLl
st &1 ITHATE _ I3 & AR
Roll No. of Candidate Candidate’s Signature

almmisisamsaTs_Gmiysst | 3rsafiiar & fore srreer / Instructions to the Candidates

1. elemssnamms  SensQsTEy  augslsd  osimg. Soasy  dselusmisen Q@ Gutap silsai & & 6iMset

SlgliuenL NCeodw LN LLp aunfi 6.
SR BT G & & 3 ¥ | Tl sl e reiRor aee sreat 3 e o foR Smee|
The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. gnQamm slamali@n (s g s ougalkd) GaThSeluLboier ueoGouyy ellemLsefld sistoug (A) (B) (C) wpmid
(D) W0 gsmoug @aim W (Hen &furmg. amGu Weaph QUIGSSiTeT slemismw l(Hen CaiLOsHLSE oL Bsnsfils
@iy Q& Gouswip1d.

ST EREfeTSS SReT 5 e SfeT e €1 916 AN/ AT 3rieRst Afet g 3w Rdew (1), (&), (&) 3R (@) Row A § 3o § e
T &1 FEY § 3R TR 3UGRA ScoRk T =TI AT Se

Each objective question is provided with a text and/or figures wherever applicable with (multiple answer choices (A), (B),
(C) and (D). Only one among them is correct and most appropriate answer shall be selected.

3. gnQanm &flutes eloLdgn 3 wHliGuaisst auprisiuph. 05 FULSHN QaQar®m Seupter elmLéGh 1 wHIGU
GOMESSLILb L. v
Ma}gﬁwma%aﬁmﬁﬁvwm—?ﬁaﬁaﬁtmmﬁttﬁcwmﬁmam

All objective type questions carry equal marks of THREE for a correct answer and One negative mark will be deducted
for each wrong answer.

4. gn Casicleg uw shmLsst Osfa Qeigned Sig Soupre L umsGal  SHSLiLh L.
TF R F fAT 3ot Sea’ & TN 3! Teld Sea] AT S|
Multiple answers for a question will be regarded as a wrong answer.

5. eloLsonsd GNSE &'l s sloLssni (OMR sheet) gaim 2 RGESE SENUTES S,
SeaRk & & fre ey 3rsa et Y v arerer AT Seak IF e R AT &

A separate OMR answer sheet is provided to all candidates for answering.
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6.

10.

11.

slsmL g gnoied @Bl siran @OlsmeT  SuTE]  LgEan. Briss Bsdefunarg sassman s Lo (h10
ASHOER  QST(h SSILL (haier &L L& Hkd Boo/smentn BIn s ubglenaiCusansisnmsd (Ball Point Pen) gmMsgis
&ML Gouewi(h Lo,

ITANR 0 W R 10 3t a7 eamergds o3 IR 97 R e 3R 7o 39790 3eaq @ Rifged =t &
T Saer ater wrge 97 (Aelvareh) w1 e T -

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on OMR sheet and
marking the most appropriate answer.

slmg0sn@iy A, B, C, D, E sien Bpg aflmassi sy sions (@B uvdssHa auwg Gus {psmsuuled o siisn
SLLSMSI  unissayn).  eledeniugmi  siamgsne Qsn@ly Aol sataeiw LTI (1 Vs AE P
Q& S (h6ien  SLL &) GOy Qauiw Coussiy Lb. Soudlened o migeng el gsnai Q&F606VT S ST &L L.
Wﬂmﬁﬁmmmé:mwgmamﬁmamgﬁﬁm%l 38 31fAarR §7 & 3NTAIR 2w & sty o ford
3R SR T & M 1| T o FY W Feak 97 FHedihaT TET FoRaT ST |

Question booklets have been marked with AorBorCorD orE on the right side top corner, which is mandatory to be
written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

Qs Csialnd Cussms el Oempilsicnnsdts  wpaaus g Qanp SsCuTdid, 2 Kiss  CEysms Qusimeley
&flunes  LwsiLg & sines (P& EWLTET BTG LD, 2 BIGEEE  Slgeoten oo asoflad ChISms  aimmasnsd  soflsns
olemsEmES sl aleLusiss oy, Ot slgeniianey ol BSErSE sl assunin.

gTeTfer e a1ty I 31fr aRepger woSiv 3 ¥, oY & 31 fow 7)g Fgeaqot & o wumisrg o w0 & 3799 @A
Etnﬂ?raﬁirlaTmmq?ﬁvagagﬁam%wmaaﬁaaaﬁlmmmﬁwwaﬁ%a&‘hmﬁmmw
a9 3T qha gl

Although the test stresses on accuracy more than speed, it is important for you to use your time as effectively as possible.
Do not waste time on questions, which are too difficult for you. You can go on to other questions and come back to the
difficult ones later. '

GOlysmeT eSS H s m&]smg‘,@g,ﬁ@ﬂﬁk\') Sl @Uib oupmIsiIL (heiiongy. QemOes SASS6T  OUPEIBLILIL LML 15,
ﬁmwﬁﬁ%ﬁwmwmm%mmm%l 8 forw 3rerer efie w781 & sroefy

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

TWSHSCSIe Yebs e elenl Ssrofs CusLG S 2 ser g (UL L lsme BPSE o1F0 elemL g Srefsmen
Coiey Som ssterafiumenfl i Qanp g 6l Tyl ollesismILGIgi & HhiEe el BUSSHE G esenameumL.

foREe e goared gy o, THIR SeeR GREART 1 3 3 eet Riget & B12 3T 7{er wmsiR 3o greceT et =ty
AT gl ufe 3k g |

On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark at the top and hand over the original
OMR Answer Sheet to the invigilator and retain the duplicate copy.

Caitey weBsla (1) TYsg Cainsats mmpaEsl (ymsiud  glyw  Blemsoulsd) Lpms  (2) SiFed  alsmLgssi
& QoL Gy S sswmiETERAILTTL G QUL E&SCoIH.  aBS Sipplmooulan  QelslswisnL_uj Gsiey
SSleuiEeT SEISEIL 6 61 & Qe d LT, :

T WA g1 9% (1) ﬁﬁammwmwmﬁmw%aﬁrm AN ek T 3redrersr i 8l & 3ty Ry
sft oRTRufY & srsreff sy A v =7 |

At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it and (2) OMR Answer Sheet should
be handed over to the invigilator and shall not be carried by the candidate under any circumstances.

Fededkdk
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o LaCEISIBG 36 &5 CussHBld @G0 110 BLLT Hend Ostevi GHmieuemne, 132 WSLLf
EeT(paTeT @ UTLSHMSE SLbS eeleauara CHID SHLEGWD?

(A)  11.0 apmgse (B) 13.2 aflpmgssi
(C)  24.2 alpmgsei (D) 272.7 efpmgseir

110 wiex =Y 3, ST 36 e ufa s 6t et & =97 W g, PRt ) 132 wWieX wel gof e AR
ST g7

(A)  11.0 9% (B) 13.2%%E

(C) 24.2%%< - (D) 272.7 ¥%e

How long does a train of 110 metre long, running at a speed of 36 Km per hour take to cross a
bridge of 132 metre long? '

(A)  11.0 seconds ' (B) 13.2 seconds
(C) 24.2 seconds (D) 272.7 seconds

gaugled 1/9 esieuerey?

9 T 1/9 FATE?

What is 1/9 of 9?

A) 19 (B) 0
c 1 (D) 2

0.20% &@&& gworer LaTerd eg?

ieT AT =T 0.20% F ST 72

Which fraction is equal to 0.20 %7?

(A)  1/20 (B) 1/40
(C) 1/50 (D) 1/500

et BeMISBAWD Sl B OHTLITFAuled 7,10,13,... eIGILSET DBSHS 66wt
SeRaTfoTdT 41 7,10,13, ... T 30ETel 96 &

The next term of the Arithmetic Progression 7,10,13,... is
A 4 ' (B) 16
< 17 (D) 20

@bdu eflamQeueh SyymMUFA 2 HHID eUETTSL / S8R AT HiFcaFH / ISRO Propulsion Complex - 2018 3
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9 Q5.5 gD CaTewiL. CamendHlar GsmeTeamemey
(A) 3241 Gg.18° (B) 108 Qz.8°
(C) 972w Gg.18° (D) 6481 G&.18°

9 Q. AY. AT & 9Nl T AT &

(A)  324mcm® (B) 108t cm?®
(C) 972mwem?® (D) 648mTcm?
The Volume of the sphere of radius 9 cm is

(A) 324w cm® (B) 108t cm?®
(C) 972wem? (D) 648mTcm?®

296518 04 e CUGESGS CaTLTsFduflar Curgd aldlsb
SRR AT 2,6,18, ... T A 3791 &

The common ratio of the Geometric Progression 2,6,18,... is
(A) 4 B) 3
) 2 (D) 12

16x%y*Z% a1 i clpevtd

16x%y“z® T FatHeT &

The square root of 16x%y*z® is

(A)  4axy*Z ' (B) 4xy’z*
(C) 4xy’z (D) 4xty*
THEZ+3 P 55 100 cuewy 6IGTLSET Fol BHOBHTNSD

1+2+3+.. & 100 dF FT TTHT &

The sum of 1+2+3+.... up to 100 is
(A) 5000 (B) 4000
(C) 5050 (D) 4050

@b aNanQaed gymiEd 2 hgio s / FAI Al HiFcasd / ISRO Propulsion Complex - 2018
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10.

90°-&@ GuBulL Gsmewid
(A enmGsremibd

(B)  ealfGasmewiid

(C) OemBsmewid

(D) CupsawisuBmeT egie|flsdemeo

90° ¥ 31T & HIUT I Tl ST &
(A)  FgFRIT

(B) 31T YT

(C) H|HpIUT

(D) 39ded A A HIS AL

An angle more than 90° is called
(A)  Acute angle

(B)  Obtuse angle

(C) Right angle

(D)  None of the above

4 Qz.8 sap 7 QF.18 2 wguph OsmewiL aIlL 2 (henenuls G&meTenee]
(A) 264 Qg8 (B) 176 Gg.8°
(C) 352 Q.18 (D) 88 Qg5

4 3.7, e 3R 7 A, FA1S F ool Sl 1 A §

(A) 264cm® (B) 176 cm®
(C) 352cm® (D) 88cm?®
Volume of a circular cylinder with radius 4 cm and height 7 cm is
(A) 264 cm® (B) 176cm®
(C) 352cm® (D) 88cm?®

@iHu elamnQeael sImiE 2 haio aemsid / FHI G Hievorad / ISRO Propulsion Complex - 2018




Sweneriyelyy ‘o ' SET
R @

sra
FIREMAN ‘A’ A
11. 025 wBmid 1.85-a1 G SBMLIEET
0.25 31X 1.85 T OTThe ————— & T &
Product of 0.25 and 1.85 is equal to
(A) 0.004625 (B) 4.625
(C) 0.04625 (D) 0.4625
T2, 0.050—68T QUTdELD
0.050 FT a3 &
Square of 0.050 is
(A) 0.0025 (B) 0.025
(C) 25 (D) 0.00025
13. BeTll UssHB6T 10 OF.5 LBEIL GUEW UEEEST 4 OF.15 CFTRIL SMISIHHE HBBETEY
(A) 14 Q5.8 (B) 24 Gs.8
(C) 280s18 (D) 18 G&.8
AT <TFeT, ToehT ofell ooy 10 A, 3R BIET 1T 4 AL &, T IRAT &
(A) 1435  (B) 243
(C) 28¥H (D) 187
Perimeter of a parallelogram whose longer sides are 10 cm and shorter sides are 4 cm is
(A) 14cm (B) 24cm
(C) 28cm (D) 18cm
14. @ suwuss WsCsTanHHE UESD 20% GOBSBILLLITH DG LJLIL6TE GBSl

T Toh FHSTg FASST & 36T 3 20% Y el T ST §, T T Qo] ——————— A g A &

If the side of an equilateral triangle is decreased by 20%, its area is decreased by
A 42% (B) 36%
(C) 34% (D) 20%

@S alamQeel 2ymiUFS 2 HEIL euemmad / T AlgeT HiFcarsw / ISRO Propulsion Complex - 2018 6
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15.

16.

17.

0,0), (2,0) wppd (0,2) SyAeuBmBE CHTE(PMETBENTES QaTewiL (p&CaTamIHSle LFLLIeTe]

(A 153y 2096 (B) 253y oSG
(C) 4ezy o006 (D) 8sar oG
37T &7 8Tl FATE, forger @&ena (0,0), (2,0) 3R (0,2) &

(A)  1sq.unit (B) 2 sq. unit
(C) 4sq.unit (D) 8sq. unit
Area of the triangle whose vertices are (0,0), (2,0) and (0,2)

(A)  1sq. unit _ (B) 2sq.unit
(C) 4 sq.unit (D) 8sq.unit

A Beow el o _wgomaer, B, Cew el o wyorere, D, E eww &L o _wgoreneut, E, B eww el

o wiloTeelT, W SeD @L enLuwimeseuT?

A BUSTE, B,CA S, D,EQwaTE, E,BUCaTE | T BIT PIsT §72

A is taller than B, B is taller than C, D is taller than E, E is taller than B. Who is the shortest?

A A | B B
© ¢C O E

T Grouie&&s FLWTEIS!
— SRR TEITE
T radian is equal to

(A) 90° (B) 180°
©) 270° (D) 360°

@A elamQeaeh SyIMiEA 2 HEID EuETTSLD / FERY Aiger FFcaaw | ISRO Propulsion Complex - 2018
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18.

19.

20.

8 Qe S 2 QFL8 2 Wb o LW QT 2 (Hmel 2 (BSSUULE 6 & 2 wIpsmLl @b
bl o (HUTSHSLILLL &I &b SIHmSsH SauiBLlgsHEa|b.

(A) 6Gs.8 (B) 80s.8
(C) 506818 (D) 4018

T ol forgent 3R Bsar 8 T8k 3R 593 2 AR §, o aaey 6 ddHe 595 &
Sfeh T & T ST & | < o feam oh oelr e

(A) 6T (B) 8.

(C) 5&&L (D) 434

A cylinder with base radius of 8 cm and height 2 cm is melted to form a cone of height 6 cm.
Find the radius of the cone

(A) 6cm (B) 8cm
(C) 5Scm (D) 4cm

Qb BIISHHT EH6T QFTend SWBCHTHID 4% o wWidpg. 56 SHOUTMSW WS CHTMms
50,000 eresBTed @Tewi® SLEHIBEEHEGL LG gl eTeTaTeUTELD?
Teh UET T MY & ATl 4% §¢ AT § | AT ST I IEET 50,000 8, AT & ATeT 91 Ig gielr

The population of a town increases every year by 4%. If its present population is 50,000, then
after two years it will be

(A) 53900 (B) 54080
(©) 54000 (D) 54900
2° & way

H AT —  FIEIE

The value of 2° is equal to
A O B) 2
) = (D) 1

@hHu aanQaiel spymiEA 2 Ko eueTmai / ST Alge HIFcawH / ISRO Propulsion Complex - 2018 8
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21.

22,

greuorésiul L. QULGImelw aumyy (Fewiowled erfleuru]) SaIBBIEOTaT SHeVem6l.

(A)  1B58se wBmib F&HGH6T
(B) rm&Gge wmmib LGymGLes
(C)  yGynGuet wBmIDd Tuyr CLesr
(D)  wrGLer wopmid CueTGL 66

a7 fsror e gt s
A) TR T
(B) uIT IR AT
(C) A AT g
(D) LT AT A

LPG is a mixture of
(A)  Methane and Ethane

(B)  Ethane and Propane
(C)  Propane and Butane

(D)  Butane and Pentane

CNG aamiu@Geaugi

(A) Opmsswrar Suibms efeaimu]
(C) owssuulL Bupmse efeaimuy
CIRCAS T

(A)  wgfa greias i

(C) wdif=a Y= 19

CNG is

(A)  Compact Natural Gas

(C) Compressed Natural Gas

(B)
(D)

(B)
(D)

BIBLns Gupme  erfeum)
GefeplLiu’ L Buibena  enfleumuy

TG T 9
T srpfas i

Colourless Natural Gas

Cooled Natural Gas

@S e@nQeiel syymiss 2 Hain eemmad / FERY AlgsT HiFcaaw / ISRO Propulsion Complex - 2018
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23. urufled-eir el guwimeng

(A)  Memeowrer SiWHSSHe0, LG ieTey CalusAnE CpT aldlsdded BBaEGD

(B) pleweownanr Si(W@EHBS5Ie0, LG SieTe CaUSHBGS Smeas) alElssS QHESGD
(C) Meweowmerr QaulILGHD, SIPSHFHD LB SieTeyse ChT aldlassHld BmeED

(D)  Pleweowmen Qmﬂu,&,ﬂd;, SWHBHD LG SeTaydEGsH SHmevdd aldlssHsled BmsELd
e g ——— 3

(A) R I 4R, AEAA, AIHTT o ATHATIITAT

(B) U= =& WX, SFaH, AOHT & Ffqenargardt

(C) R IIAE W, T, AT & ATHATIATAT

(D) TR qTOHIA R, T, SAFAA 6 TTASHTIATAT

Boyle'’s law is

(A)
(B)
©
(D)

At constant Pressure, Volume is directly proportional to Temperature
At constant Pressure, Volume is inversely proportional to Temperature
At constant Temperature, Pressure is directly proportional to Volume

At constant Temperature, Pressure is inversely proportional to Volume

24. BammieT 61g HUuBPld Osmeiend galgul eurw|?

sqerefier 9 e 91 §?

Which is the flammable gas?

(A)
(B)
(©
(D)

N2
O,
Ar

Ha

@S eamQaen SyymiEs 2 B euemsid / FERY AlGsT HiFcaFd / ISRO Propulsion Complex - 2018
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25,

26.

27,

Sreuordasti’ L Qul Gymedw euruy (LPG)

(A)  smbopeallds SeoTEIS!

(B) osmopal. QGareig)

(C) asmopal_ds sanoraiGst BGaraiBsm Bsbamev
(D) CupeHiil Lapger ageib Sedamev

TS —— %

@) I

(B) AT & geHl

(C)  aTg F QT | 7 T WK 3 7 & gl
(D)  SwdxH # & =g TG

LPG is

(A)  Heavier than air

(B) Lighter than air

(C)  Neither heavier nor lighter than air
(D)  None of the above

BeauBpeT 6% WbGeuru|?

e I e 41 8?2

Which is the inert gas?

A 0, (B) Cl
(C) Br (D) Ar

My CLeir-air Geugluiwed @MIlLE Q&med

L & forg e aE g g

The chemical formula for Butane is

(A)  CsHs (B) CsHyo
(C) Csz (D) CZHS

@B aNenQael sLmiEA 2 hgin euenmsib / FAI Aee HlFcaFHd / ISRO Propulsion Complex - 2018
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28. @b alguneaig

(A)  Peveowren QeuligHed OGTEIRSHSD GG L DG Hmesd al@lsHsse0 BHsELD

(B) deweowmen Gailiugded 0eapdsn WeGa LeAneG ChT aldssdlsd EmeeLD
(C) Meweownen GQeuliigHed OSTEI(IRSHSD GG L HSBGF Fooms BHEESLD
(D) CupeHii LaBpel ageb Beoemed

aufiar— %

(A) TR QIIATA IR, AleedT, dRT & Saerargardr
(B) R ITUHTH U, dleedl, oRT & STHHATIITAT
(C)  TRoR T R, Fieedl, 81T % ax1a%

(D) ST H T FIE AL

Ohms law is

(A) At constant Temperature, Voltage is inversely proportional to Current
(B) At constant Temperature, Voltage is directly proportional to Current
(C) At constant Temperature, Voltage is equal to Current

(D)  None of the above

29. Freuorssiinr L QULCrmelw! eumu] (Femlouled enfleumuy)
(A) BFeSSEOWL 2_6T6ns (B) suumhle Qsmeend gnguig
(®)) LOfb SHLOTEUIEI (D) GuBsaiL 6ge|Lblsdamen
ver.dre, —— %
(A)  3fasTy (B) Sde=TLlTel
(C) 3fwa (D) 3uderd & § HIg T
LPGis
(A)  Toxic (B) Flammable
(C) Inert (D) None of the above

@hHu eNamQeiel syymiEd 2 K10 euemmaLd / FRY A1gT RIFcaFH / ISRO Propulsion Complex - 2018
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30.

31.

32

Weses BGeuamear eumu|

(A)  epLysge (B)
(C) mamlyegsi (D)
qad godh M §

(A)  TSereT (B)
(C) @rZ3e (D)
The lightest gas is

(A)  Nitrogen (B)
(C)  Hydrogen (D)

Bl pilar OILTEH o FF53l60 B(HHESLD.

T el T Telcd FThaA &
Density of water is maximum at
(A) 0°C : (B)
(€ 15°C (D)

e BgaluTigeammed LalGalILwmL S0 gBLGSBS!.
(A)  euelweami_sogHaed SMwiblev eumyy (B)
(C)  euewemi_suHaNed SuéAeges (D)

1 gig & HROT TAUSAT ATIl Bl &
(A)  aIgHSH A Fe 373 JHlFATss (B)
(C) argHsd F JiferdieteT (D)
Global warming is due to the increase of

(A)  Carbon di Oxide in atmosphere (B)
(C) Oxygen in atmosphere (D)

OR300 s
anfellLd

TSt
sifor s

Oxygen
Helium

4°C
100°C

AUEIMLDGWTL 60560  emBLTEResr

GUGIMLOGHTL 60SH D & TEITesT

AGHSH H ATSEISTeT
aRHSE H M

Nitrogen in atmosphere

Argon in atmosphere

@hdu allamQeuefl opTLER 2 HEID aueTTaid / SERY sAleeT HIFCIFH / ISRO Propulsion Complex - 2018
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GST ghéeh CemmbemprLT

(A) or8@ wLnmb elbuemer eufl (B) e&péE wBEID eupmiaed eurl
(C) orse wpph Grmeusst eufl (D) spéE whpb eeflw eufl
SLUHE. AT HTE

(A)  Ter 3R Tashr (B) &Tel 3R JTfet A

(C) wIRAAaTI (D) AT IR T I

GST stands for

(A) Goods and Sales Tax (B) Goods and Supply Tax
(C) Goods and Services Tax (D) Goods and Simple Tax

pifler Gardplaney QL%

SToT T FIUATH =

Boiling point of water is
(A) 80°C (B) 100K
(C) 373K (D) 100°F

SILTHS eramiLBeoug

(A) Plewp X @mevld (B) umw seme + Hos
(C) Meop + U@L SieTey (D) Meop + e&mevld
Tefed ———————— %

(A) GSTHAA X GAT (B) 3T + GeTHATT
(C) GcTHATN + AT (D) GTHANT + HAT
Density is

(A) Mass x Time (B) Volume + Mass

(C) Mass + Volume (D) Mass ~+Time

@5 aleQeuel SIMUEA 2 B euemai / SN A1geT HiFcdd / ISRO Propulsion Complex - 2018 14
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36.

37

38.

alemgwllear S| ge0@

(A) kg (B)
(C) Pa (D)
ol T TH.3TS. gl 3

(A (B)
(C) Pa (D)
S.I unit of Force is

(A) kg (B)
(C) Pa (D)

uefldbsliguie SILTSHHWTEIH

(A) e olLTBHmw el oifswrag (B)
(C) e oLTsHmw alLd Gampearears (D)
% T Gefca g

(A) STl & Helca 9 3T0H (B)
(C) STl & uedcd ¥ Hd (D)
Density of ice is

(A)  More than density of water (B)
(C) Less than density of water (D)

SIWHS FmwwBsevalear 2 6Ger Bilar QErdiplenso

(A) 100°C (B)
(C) 100°C-6@6 GoBauTs (D)
YR FeT o e, T ST el §
(A) 100°C (B)
(C) 100°CE&HA (D)
Inside the pressure cooker, water boils at

(A) 100°C (B)
(C) Lessthan100°C (D)

N
CuBaeamiL a1&ia|L060mev

N
39gerc & F HIS AT

N
None of the above

BT SILTHHEGHEF FLOWTEISH)
GBsaIL 61&Ia|L0le0em6D

STeT & gedcd o S
39derd & J IS 76T

Equal to density of water
None of the above

100°C-6@ oigswons
GuBEulLL agia|flebenso

100° C & 318
39erd A { lg AT

More than 100° C
None of the above
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39.  -40°C-é@§ swore UTTEBL SieTe| 616 ?
et f3aft BReAgEST & SR - 40 33 I 872

How many degree Fahrenheit is equal to - 40 degree Centigrade?
(A) -40 (B) +32
(C) +40 (D) + 140

40. 1 OLL(p&GHF &LOWTEISHI

(A) 10000 flebad Sl Lir (B) 1000 86069 69" L it
(C) 0.1 186069 oSl Lir (D) 0.01 feved et Lir
1R ——————— F N g

(A) 10000 f&eleiex (B) 1000 fHelreiex
(C) 0.1 A elreieX (D) 0.01 Felellex

1 litre is equal to

(A) 10000 ml (B) 1000 ml

(C) 01ml (D) 0.01ml

41.  pesdar Sl o0

(A) B (B) omigeobd
(C) Goang LT D) o
FETS A TE.ATS. AT

A)  #HoeX (B) s

(C) &AM D) @

S.1 unit of length

(A)  Metre (B) Inch

(C) Centimetre _ (D) Foot

42, oplygals Sian bep

ATSCISTeT T IRATVaH G §

Atomic mass of Nitrogen

A 7 (B) 14
(C) 8 (D) 16
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43. 10° ——————— s GEUUILLILGSBS
(A)  GLa (B) eows@ym
(C) &ar (D) GQuwsr
10° T gl ST &
(A) 3T (B) HIZHI
(C)  Fiem (D) &I
10%is called
(A)  Deci (B) Micro
(C) Giga (D) Mega
44, ATSaID LWISGD SMHme SeNdHel UWaLBD smal
(A)  erdSGLm WL (B) @Gum Bl
(C)  &meveuBenm B LT (D)  ebQu&L Bym WBLLIT
AT+l @R ¥ T 978 gl o ———————— YR AAAT &
(A)  TerATH (B) 3NN
(C) AT (D) TEFcHATIY
The instrument which measures the distance travelled by a vehicle is
(A)  Speedometer (B) Odometer
(C) Galvanometer (D) Spectrometer
45. UTaTeNededled 61&HSMET BIBEIG6T 2 _6ieTen?

oty A fohaer T Hlsfe 87

How many colours are present in Rainbow?

(A) 5 (B) 6
© 7 (D) 4
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46.

47.

48.

Weteupueupmier el ‘PIN' ereiuger sflwmer affleurdasib?
ST I hisT [T 'PIN' T TET fATaR &
Which of the following is the right expansion of ‘PIN'?

(A)  Population Information Number (B) Postal Index Number

(C)  Poor Identification Notice (D) Physical Internal Note

2 eualer WaslLEUNW GUHFBISLED

(A) uwdlds B) aungs

C) sBdu (D) oemiLmT 198
TR o1 Gl 8T AGAR §

(A) g (B) 3hReH

€ e (D) 3iEThfcH
The largest ocean in the world is

(A) Pacific (B) Arctic

(C) Indian (D) Antarctic

SEHMUSIHMES 2 Leamnguirer (pHeuHel
(A)  srwsdear Guwed Helwmed &L Bged (B) smwsser Gosd @efiby HLesed
(C) asrwsdHar Gosd GueT D HLAISHE (D) smwgder Buwed Hemenieny oaBpISHED

Sl dic & folT dohlel TIH 3UaR &
(A)  dIC 9T Teh HYST STEreT (B) e W HAIGH oldTeTl

(C) e U TATE e (D) =T 9T 9T=AT STel=T

Immediate first aid for burn injury is
(A)  Tying a cloth over injury (B) Applying ointment over injury
(C)  Applying ink over injury (D) Pouring water over injury
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49.

50.

(A)  ysslenL
(B)  smiLiu’ L s@melssit
(C)  gluT 2 _enpsel

(D)  Gumsewi_ e6060TD

Her g@TFFemws HalTéds @umeuT UWETUGSHSS Falguig.

faege] & e 1 Aehet o T, 38 SEAATS R Tehel ©

(A)  TIRSY T GieTeh

B) g e
(C) T EEW

(D)  3Tded @l

To prevent electric shock, one can use

(A)  Wooden plank
(B) Insulated tools
(C)  Rubber gloves
(D)  All the above

OSTGGITLL(1psiTenm &WIIWL ST 2 L 60 QFHTLIL gBULLTED eflenemsugi.

(A) o (B) Sty

(C)  &mey (D) GumsemiL ee0eOTLD
ST e R & 6T IR Hoh § ———— T FHROT T Tl §
(A) yEId (B) STelet

©) Hq3I (D) 3 |l
Physical contact with live electric wire may cause

(A)  Shock (B) Burn

(C) Death (D) All the above
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51. agl WeTFTyHSHET Gomaorer &L ga?
(A)  smign (B) sLed @i
C) swufeiluwb (D) wréslemL
el 1 el @l AT T
(A) (B) TR T STeT
(C) VAT () GEE]
Which is bad conductor of electricity?
(A)  Copper (B) Seawater
(C)  Aluminium (D) Wood
52. CO; -afar S angautd
(A) 2 Goras suEmE® (B) &L aumy
(C) 2 e uaisslig (D) Gupseawi_ sgle|Lilsbened
CO, & 31T & &l & AT A ST AT &
(A) g eSS (B) T
(C) gEraH (D) 3UdFd H A HIS G
Solid form of CO, is known as
(A)  Metal oxide (B) Solid gas
(C) Dryice (D) None of the above
53. DleupBsssmsl L] GFuD &@mal
(A)  GsirGoradlym (B) gevGondlymii
(C)  aimBasmalymi (D)  mgGuiraymi
TS ITHIOT ST 37T T NepIS X §
(A) oo (B) sEhTaE
() 3rfarH (D) sfZAr®
An instrument that records earthquake is
(A)  Thermograph (B) Seismograph
(C) Ergograph (D) Ediograph
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54. Please give me a of paper.
(A)  piece peace
(C) piese pease
55. He took action corruption.
(A)  against to
(C) with of
56. | applied for a course my English knowledge.
(A)  improve
(B)  improving
(C) toimprove
(D)  for improve
57. ‘Panic’ e Qamedend@ll QUTBSSITaT BenamoummL. OFmed 61g?

'Panic' 2ree; &1 3T FATATLT got

Choose the appropriate synonym of the word ‘Panic’

(A)  Sorrow
(B) Joy
(C) Fear
(D)  Happy
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58.

59.

60.

‘Continent’ ereti3 Qemebed@GL OUTBSSLT (WPeTBaTEmaamws BaféaaLb.
‘continent’ 21eg 3 T e ST 39eT S5

Add a suitable prefix to the word ‘continent’

(A) Un : (B) Pre

(C) Sub (D) Post

‘Punish’ e Gamebens@l Qurmssioter UnCsTésmamws Gaobaa|Lb.
'Punish’ eree; & fIT 3ugerd e S5

Attach a suitable suffix to the word ‘Punish’

(A)  ness (B) ify

(C) ful (D) ment

‘City’ eteti3 GFmevallett Lisilenioemwls BHTHOHBHSLD.
'City" {Tee; &7 qgaaet &9 el

Choose the plural form of the word ‘City’

(A) Cities
(B) Citys
(C) Cityies
(D) City
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 19.08.2018 for Selection to the Post of
Fireman ‘A’ — Post Code:008
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
~an.No. | Ans.Key -~ an. No. ns. Ke
01 C 31 B
02 C 32 A
03 D 33 C
04 B 34 C
05 C 35 C
06 B 36 B
07 A 37 C
08 C 38 B
09 B 39 A
10 C 40 B
11 D 41 A
12 A 42 B
13 C 43 C
14 B 44 B
15 B 45 C
16 Cc 46 B
17 B 47 A
18 B 438 D
19 B 49 D
20 D 50 D
21 C 51 D
22 C 52 C
23 D 53 B.
24 } D 54 A
25 A 55 A
26 D 56 C
27 B 57 C
28 B 58 C
29 B 59 D
30 C 60 A




